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Chapter 1 — Functions and their properties:

1) State the domain of each of the functions below:
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4) Determine whether each of the following are even, odd, or neither:

a) f(x)= 23" b) y=Sk| - 7x*+ 11 ¢) f(x)=5x" - 4x* —x
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5) Determine the functions implicitly defined below:

a) X2+3)*=9 b) y —x=2 c)9x+16y2—100 24xy |
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6) Use the given functions to find the compositions and their domains |
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Chapter 2A — Polynomial & Power Functions:

1) Write the following quadratic functions in vertex form then state the vertex:
a)f(x)=x*—8x+ 11
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2) Find the zeros of the polynomial functions below:
a) f(x) =x3—3x*-25x + 75

b) f(x)=x*—11x*+28

) f(x)=x>—2x* - 5x+6
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3) Use long d1V1510n or synthetlc (you should look in your notes to determine which to use when) to find:
w2 - X
gy XL ZTXEZ 3x7 =7x+2 b) 2x'—x* =2 .
X+5 B 2 -7 f;’lO 2% +x+1 2x x4 ) 233 0xE 0x -2
/,iﬁz..iL — 4py 3,
2 2z u2 el ;:x;
T T = AX ) 240X
3>< 22 + L= 2 Xz
_ RYE ‘ ”(: X & " 2xTaxry T 2% 5 - X2 )
f’xi ""C'Q‘
4) State the comjglex con]ugate of each of the following gnd the ll/h&m’elr product:
a) 71-3i '7.+_g b) -5+ 8i ‘—»5 "XL
(7_&)(’7_}3&) ) (‘5*&’17(‘“6'8)
4a +21; -2{( -9

Ay M,;w “‘wa '(atff
58

?
5) Find all the complex zeros of the following polynomial Tu Cnctions:
a)y=x>-2x*+4x-8 b) f(x) = x* — 6x +25
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c) y=Tx*+42
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6) Solve the following non-linear inequalities:
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7) Determine whether each of the following is a polynomial. If it is state the degree & Tea mg coefﬁment (n not put “n/a”): )
a. f(x)_5x32+4x—3 b. f(x).__7x —3x+8 c. f(x) Tx+5
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8) Sketch each of the following polynomials:
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Chapter 2B — Rational Functions & Non-Linear Inequalities:
1) Simplify each of the following rational expressions:
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2) Determme cach of the x- & y-intercepts and state the left and right end behavior for each of the following:

a. f(x)=x"-5x"+4
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3) Write the equations of all of the asymptotes of the function:

a)y=5x3—4x2+l b) Sx® —20x” +20 = 15X +ZD x-10 . x—10
x3_8 Y= x3_8 X3- R —€ _x2_9 (;,\__(,31%__3)
2 h _
(x- 267+ ax+4) = =5 (3x*-4) _ -
e T T VA, x=-3 x=73
2 (x-2 [EFTXYY)
V.A. %= C HA. y=0
HA. Y= S V A x= 2
o
4) Solve each of the following rational equatlons ‘ﬁ
x-2 x*1_ 1lx +32 y+3 . y+1
o TTE R M DR y+2
Led= (xty Yt o) Leb= gyt 2
(x-2)x+e) ¥ (st N0y Y= \\X+32 Yt3z= Y1 2.~ (%f" »)
T . - G ot~
O e R e PN L Ll A
Ix* =2+ —YHo = © Z(X_:E_}(SC*“ yrz= | S
e vig S0l
JPx 200 |x=94 Y=<a el
Chapter 3 — Logistic, Exponential, & Logarithmic Functions:
1) Write each of the following in exponential form:
a) log7=x b) logs416=2 ¢)loguk=
X 2 _ z
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2) Write each of the following in logarithmic form:
a) 77 =343 b) 117=3 c)tt=11
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3) Evaluate each of the following logarithms:
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4) Expand each of the following logarithms:
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5) Condense each of the following logarithms:
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